Auxiliary Problems for Chapter 5 

1.
What is the difference between total utility and marginal utility?

2.
What is meant by diminishing marginal utility?
3.
Movie theaters often give discounts to children, seniors and daytime patrons. Why?
4.
Biff, Stan and Jerry are willing to pay $36, $32 and $18, respectively, for a dozen golf balls. The balls are on sale this weekend for $22. Is there any consumer surplus in this situation?
5.
Suppose Suzanne buys potatoes and onions. The MU of the next potato is 104 utils and the MU of the next onion is 88 utils. Potatoes cost $0.44 and onions cost $0.62. She only has money to buy one of them. Which should she buy?
